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N: no 3D-linearization (OL) in file (F) or PS-startup (S), page 1/1

LABJNDu3 standard lightnessl*

* Yoc=Yw  nc=100,

"L agaNDu3=IN(A1n+AnY)(AgnAon)  (Ya/100<Y<=Y,o)
I* L agaNDu3 =IN(A 10tA2X)/(A2iAon) - (X=YIY,)

* %ﬁ[@nf‘%lb Y185 ééml*w(go) 1737y,
I
1
1
a 1
I* 60=1736,93, A 6666, A,~4,0699, ¢=0,67
1*15=1115,68, A7 011, A,=0,p038
I*3,6=490,69)%,=1  ¥6,68 =18
-

L !
Ll — e
2 XN=0,2  IXyw=5

application
range

LABJINDu3
tristimulus value difference
Yoc=Yw nc=100,
I* L ABINDU3 =IN(A 10+ A2RY)/(A2nAon)  (Ynd/100<Y<=Yoo)
I* L ABINDUa=IN(A 10+ A2) (A2 Aon) - (X=YTYy)
dY=Agn(Agr+AsnY)=Agn(As+AgX), See CIE 230:2019
dYoq=0,24, Ay,=0,6666, A,=0,0699, ¢=0,67
dY,5=0,05, A,=0,011, 4-=0,0038
d¥3,6=0,01 Y,=18, dY=0,05

log AY/Y) LABINDU3
_ tristimulus value sensitivity
S=@vr) YotV nc=100
I* L ABINDU3 =IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yyo)
I* L ABINDUa=IN(A 10t A2) (A2 Aon) - (X=YTYy)
AYY=Agy(Arr+AonY)Y=Agn(Ag A )Y
(dY/ 7=0,0026, A=0,6666, A,=0,0699, ¢=0,67
(dY/Y)5=0,0030, A=0,011, A,=0,0038
(dY/Y)y6=C 0046 Y,=18, dY=0,05

application
range

log(dY/Y)E~2,52 m=-0,10.3 ~ _ .
I*,=1116 dY,=0,05 dY,/Y,=0, °°3°yu=1
xN=0,2 Xw=5

LABJINDu3
tristimulus value contrast
Yoc=Yw nc=100

I* L ABINDU3 =IN(A 17+ A2nY)/(A2nAon)  (Yd/100<Y<=Yyo)

L aganDus=IN(A 10+ A2X)/(AgAon) - (X=Y1Yy)
YIAY=Y/[A on(A1ntAnI=X Y /[Aon(A1ntAzuX)]

C,=(Y/AY)

(Y/dY}e=373 52, /-;,n 0,6666, /5.,_0 0699,£=067%
(Y/dY)g=3-1,94, A=0,011, A %O, oos?PP il
(Y/dY} 212,76 Y,=18, dY=0,06

xn=0,2 'xW:5

LABJNDuS3 relative standard lightnessl*/I*
I Yoc=Yw - nc=100,

1 LagaNDuz =IN(A1ntA2nY)(AgnAon)  (Ynd/100<Y<=Y,o)
1* | ABaNDU3 =IN(A 10 +A2X) (A2pA0n) - (X=Y1Yy)
1y (3,6)=491J* ,(18)=1116/*,/(90)=1737

¥ gg/l* =1,55, Ay=0,6666, A,=0,0699, ¢=0,67
I*1g/1* =1,00, A;=0,011, A4,=0,0038
I* 3 fl* ;=0,43,1% =1115,68 Y,=18

log[i*/I* ]=0, m,=0,33

log(AY/AY,) LABJNDu3 relative
tristimulus value difference

NNy Yoc=Yw - nc=100,
11 ABINDUB =IN(A 17 +A2RY)/(A2rAon)  (Ynd/100<Y<=Yoo)
1L ABINDU3 =IN(A 10 +A2)(A2uAon)  (X=YTYL)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=0,6666, A,=0,0699, ¢=0,67
dY;g/dY,=1,00, A ,=0,011, A;=0,0038
dYs,gdY,=0,31 Y, =18, dY=0,05 -
-

XN=0,2 Xw=5

log [(AY/Y) 1 AYIY),] LABJINDuS relative
tistimulus value sensitivit)
SISU=EYNIAYI), yotv S Ve ge

nc
1L ABINDU3 =IN(A 17 +A2RY)/(ArAon) - (Ynd/100<Y<=Yoo)
11 ABINDU3 =IN(A 10 tA2) (A2 Aon)  (X=YTYL)
(dY/YY(AYIV)=[(A 1+ A )X (A 17+AZ0)
(dY/Y}f(dY7.\=0,88, Ay,=0,6666, A,=0,0699, ¢=0,67
(dY/Y)g/(dY/Y)=1.00, A=0,011, /,=0,0038
@YYy g(dY/YV)=1,24 Y, =18, dY=0,05

S
10g[(dY/Y)(dY/Y),]=0, m=-0,13 1
¥ =1116 dY,=0,05 dY,/Y,=0,003§
%=1
XN=0,2 Xw=5

application
range

log [(Y/AY) 1 (YIAY),] LABJINDu3 relative
tistimulus value contrast

ColCy = (YY), v 2y 2 2160

1L ABINDU =IN(A 17 A2 Y)/(A2rAon)  (Ynd/100<Y<=Yoo)
11 ABINDUS =IN(A 1n+A2)(A2uAon)  (X=YTYL)
(YRYY(YIAY) =X /(A1ntAz ) (A 1n+A2,)
(YIdY}(Y/dY)=1,12, A5,=0,6666, A,~0,0699, ¢=0,67
(Y/dY)g/(Y/dY)=1,00, A,=0,011, A;=0,0038
(Y/dY} g(Y/dY)=0,64 Y, =18, dY=0,05
log[(Y/dY)(Y/dY),]=0, m,=0,13

*,=1116 dY,=0,05 Y,/d¥, %531~
r 1 application
1 range
Ix =1
il
XN=0,2 Xw=5

LABJNDu3 standard lightnessL*

YoeL*w -~ nc=100

L* | ABINDU3=IN(A 15+A2nY)/(A2rAon)  (Ynd/100<Y<=Y,0)
'— 1ABINDU3=IN(A 10+ A2)/(A2 Aon) (X—V/Yu)

MEJ?[I_G)/LQQ} lU %&b %%16 L*w 90) 1737

i

1
/ .
4 1

n
L*9=1736,93, A7 (#6666, /ﬁ,:{),oegg ¢=0,67
L*1571115,68, A 18011, A,=0,0038
L*36=490,69L%,= | 15,68 = 1§
1 : sl
T Ixn=0,2 1 1xy=5

appllcatlon
ange

CEU30-1A
logAY) LABJINDu3

AY tristimulus value difference
YomL*yy - =100,

L*Laganpua=IN(A1n+A2nY)/(A2rA0n)  (Yac/100<Y<=Y,o)
L*Laganpua=IN(A1ntA2X)/(A2iAon)  (X=YTYy)
dY=Agn(A1r+AsnY)=Aon(A1+AgX), See CIE 230:2019

dYoq=0,24, Ay=0,6666, A,=0,0699, ¢=0,67

dY,5=0,05, A,=0,011, A4=0,0038

d¥3,6=0,01 Y,=18, dY=0,05

45
P

L*,=1116 dY,=0,05 dY,/Y,=0 OOSQ p

CEU30-3A

log AY/Y) LABJINDU3
_ tristimulus value sensitivity
S=(@AYH) YomL*w =100
L*Laganpua=IN(A1ntA2nY)/(A2nA0n)  (Yac/100<Y<=Yqo)
L*Laganpua=IN(A1ntA2X)/(A2iAon)  (x=YTYy)
AYY=Agr(Arr+AgnY)Y=Agn (A1 A )Y
(dY/Y)=0,0026, A=0,6666, A,=0,0699, ¢=0,67
(dY/Y)§=0,0030, A=0,011, A,=0,0038
(dY/Y), ¢=0,0046 Y,=18, dY=0,05

application
range

L*,=1116 dY,=0,05 dY,/Y,~ 0030 "
=l
XN=0,2 Xw=5

CEU30-5A

log (Y/AY) LABJINDu3

tristimulus value contrast
C=(YIAY) M s
L*Laganpua=IN(A1n+A2nY)/(A2rA0n) - (Yac/100<Y<=Y,o)
L*Laganpua=IN(A1ntA2X)/(A2iAon)  (X=YTYy)
YIAY=Y/[A on(A1ntAn)IEX Y/ [Aon(A1ntAzuX)]

(Y/dY}e=373 52, /-;,n 0,6666, /5.,_0 0699,£=067%
(Y/dY)g=331,94, A=0,011, A %O, oos?PP il
(Y/dY} 212,76 Y,=18, dY=0,06

XN=0,2
CEU30-7A
CEUSL-7N

LABJNDuS3 relative standard lightnessL*/L*

LHIL* Yoc=L*w - nc=100,

L* LaBINDu3=IN(A 1n+A2nY)/(AorAon)  (Ynd/100<Y<=Y, ()
L* aaNDuz=IN(A1rtA2)/(A2Aon)  (X=Y/Yy)
L* N(3.6)=491L* ,(18)=1116,* 4, (90)=1737
L*gy/L* =1,55, Ay=0,6666, /,=0,0699, ¢=0,67
L*1g/L* 1,00, A,=0,011, A4,=0,0038
L*3dL*,=0,43,L%,~1115,68 Y=18
log[L*/L* =0, m,=0,33
L* ,=49,L* ,=1116

CEU30-2A
log(AY/AY,) LABJNDu3 relative
AYIAY tristimulus value difference
u YoerL*w - nc=100,

L*LaganDua=IN(A1n+A2Y)(A2rAon) - (Yad 100<Y<=Yyo)
L1 aganpua=IN(A 1ntA20X)/(A2iAon) - (X=YTYy)
dY/dY =(A1+A X (A1 +AY)
dYoy/dY,=4,43, Ay=0,6666, A,=0,0699, ¢=0,67
dYyg/dY,=1,00, A=0,011, A,=0,0038
dY;,¢dY,=0,31 Y,=18, dY=0,05 2
y
L lSdY =0,05 dY,/Yy 00039/

log[(dY)/(dY)u] =
1 application
1 range
%=1

CEU30-4A
log [(AY/Y) | (AYIY),] LABJNDuS relative
tistimulus value sensitivity

SISu=@YMIAYN)y v =%\, =100

nc’
L* L aganDua=IN(A1ntA2Y)(A2rAon) - (Yad/100<Y<=Yyo)
L1 aganpua=IN(A 1ntA2X)(A2uAon) - (X=YTYy)
(dY/YY(AYIYV)=[(A 1+ A )X (A 17+A20)
(dY/Yyg/(AYIVI=0,88, A),=0,6666, A,=0,0699, ¢=0,67
(dY/Y)g/(dY/Y)=.00, A=0,011, /4=0,0038
@YYy g(dY/YV)=1,24 Y, =18, dY=0,05

S
10g[(dY/Y)(dY/Y),]=0, m=-0,13 1
L*=1116 dY,=0,05 dY,/Y,=0,003p
%=1
XNn=0,2 Xw=5

application
range

CEU30-6A
log [(Y/AY) I (YIAY),] LABJINDu3 relative
tistimulus value contrast

CrlCoy =(YIBVI(YIAY), 2%,

nc™

L*LaganDua=IN(A1ntA2Y)(A2rAon) - (Yad 100<Y<=Yyo)
L1 aganpuz=IN(A1ntA2X) (A2yAon) - (X=YTYy)
(YRYY(YIAY)=[X/(A1n+Az ) (A 1n+A20)
(YIdY}(Y/dY)=1,12, A5,=0,6666, A,~0,0699, ¢=0,67]
(Y/dY)g/(Y/dY)=1,00, A=0,011, /4,=0,0038
(Y/dY} g(Y/dY)=0,64 Y, =18, dY=0,05

log[(Y/dY)(Y/dY),]=0, m=0,13

CEU30-8A

TUB-test chart CEU3; LABINDU3*(Y) & L*(Y), Yh=(Y&L*)wne x=0,66, with more data
Lightness, sensitivity and contrasty#0,6666, A=0,011, A,=0,0038, A,=0,068
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